Name

fe Algebora. - Review fir Quiz
% Increase/ Decrease, Lrierest, Word Problems with % 's

@ﬁ School Newspaper Says that
3 S’fudcn'fs) or bl of the
~S'Iu~dcm‘s Suvveyed, can w{gglc
their eays. How many
Students were Surveyed ?

@ﬂcrc were I%,ooo Spectaturs

at 1he wwr wrcsth‘nj Match

in 1‘1‘15' ln IQQ? -fhtre were.
1F,000. What is 4he ercent
ncrease or decrease f

@ The Orl'ﬂinai Pr.‘ce for the
green Shoes was 879 00. The
hew price I8 & ¢9.00. What

it Pcrccn,t 1ncrease or
decreage 7

® Mr. 6uditus brugrit a Ford
mqs'}'a.ng and tvek a loan
for 9 32,000. The inttrest
rate is 12% qaor (ozi' fd,car‘
period . What is e intuneet?

0, 2 _ b
e
by = 599
% b

X = 50 students

@ /95000~ 167000 31000 _

125000 195000 1"
1% D
® s00-7000 _ o 13 = 1351
79.00 79 . = 13/
@ I=PrRT
T = (32000) (. 12)(L-5)

L=92y 960



® Mrs. Hoffman bought a
new TV on Sa'furda-ﬂ-
It cost #195. 0n Tuesday
4he T V. was on Sale.
The Sate price is ¥ )58
What % o0f The an‘gxmc
Pn'ce 1S dhae Sale Pn’cc?

@ (dour aunt € uncle Puréha-‘"
A& new r&fn‘%rah)n ’Ti'u.tj borcow
41500 Hr & mths at a
rate of  2.57%. What is
the inlet they must pay
back? ‘

@ A car Sal.u}ocrsm eAans A
6-5% commission 9n every
Car sSold. The Ja.uspe,rsm
Sells a car for @ 21,800
What is The comywdssion 7

p.l

I5§ . _x
195 100

195y = 15500
195 /95

x= 8§17%

® I=PrRT |
T =(1500)(.025)(.F)
T="25.13

@ X )

a/g00 190

00y = /41700
/00 /00

)C = ‘g//'//?

or
, 0bs(21,§00)= B IHIF



